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Problem K. Cocktail
For the final round of the National Students Olympiad in Informatics the organizers decided to select the most beautiful informatics girls to assist in meeting the guests. Stefanie is the most beautiful informatics girl (and she knows this very well) but she tries to avoid coming or this event because it is boring. She prefers to go on a yacht cruise with friends who invited her several weeks ago. For her apologies (under a threat of potential firing from the University) all informatics girls were obligated to come at the casting.

Stephanie is smart and she fast developed a plan. She knows that in "Informatics" specialty there are N girls and she wanted to leverage the fact that her colleague Vasko who has the critical role in the casting likes long legs and instead of the traditional ordering of the girls by height he prefers ordering them by their length of legs. For this purpose Vasko starts by arranging the N girls by height and after that (N – 1) times he passes through the sequence from left to right form the first (most left) girls to the girls before the last (most right). When Vasko passes through a girl at place i (1 ≤ i ≤ N – 1), he asks her to measure out her legs with the legs of the girl on the right of her, which stays at position (i + 1). If the girl on the left has longer legs then the girls on the right, these two girls interchange their positions. Otherwise their positions stay the same. After that Vasko performs the same for the girls at places (i + 1) and (i + 2), and so on finishing by the girls at positions (N – 1) and N. When the legs are compared between two girls both of them behave honestly to avoid considering them ugly.
To increase her chances to go at the yacht cruise Stephanie wants to get at the most left possible position in the obtained sequence of girls. She knows the length of the legs of all her colleagues. She knows as well that if she bents down "to tie her ties" Vasko gets amazed and fails to ask her to measure out her legs with both of her colleagues (on the left and on the right) and moreover her neighbors (on the left and on the right) are also not asker to measure their legs because these girls are not staying directly one after another. By attempting to keep her prestige and power for the cruise Stephanie cannot bent down more than k times.
Write a program to calculate how Stephanie should act in order to ensure that after the entire process of ordering and reordering the girls according to the rules defined above to reach the most left position possible.

Input
On the first line of the standard input a single number T stays – the number of the test cases. Each test case that follows consists of two lines. At the first line 3 integer numbers are entered: N – the numbers of girls, p – the position of Stephanie in the sequence by height, and k – the number of "bent down" operations allowed for Stephanie to safely perform (2 ≤ N ≤ 100 000, 1 ≤ p ≤ N, 1 ≤ k ≤ N – 1). At the second line the integer numbers a1, a2, ..., aN are entered (1 ≤ ai ≤ 109). The number ai defines the length of the legs of the girls staying at position i by height. By definition the girl at position i by height has longer legs than the girls at position j if ai  > aj.
Output
For each test case your program should produce a single line with a single number – the most left possible position in the sequence which Stephanie could take.

Example
	input
	output

	1

10 7 7

8 3 5 4 5 7 4 2 1 3
	3




